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1. Ais a Matrices, Amxn, Which one is Asx2  ? (5%)
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2. The Fellow is Linear equations,X1 ,-~------- ,Xn are N unknown$ (5%)

variables,all,a12-,---,a21,a22,----,am1,----,amn, b1,-----,bm are all coefficients :

A X tGuXo+ -~~~ - Tl X = b
Goy Xy + 0o Xet - - Thantu =hy

a\l’“ Xt (i ot - + a\hn Xin= ’om

Please write AX=B form and What is A,X,B matrices ? (10%)
3. Find two matrices Products(5%) . A= [ G, ¢» €3] B= [,bil
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4. Please take a numerical example to explain A,B nonzero, but AB=0(A,B are

matrices) (10%)

5.(1)A= L"_ Z_ Z ] ,Find transpose of a matrix Al

(2) Which one (or all) is TRUE: k is a constant ~ (10%) _ '
A=A, (A+8)=pT+8", (AB=BAT, (KA ek AT EBRT-ATST
(k7=

GWhar. AT=A ad AT=-A 2
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